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HES . BETICHT DAL TRKBEADEHO KL (84 mHA)
R3 R4 RS R6 R7
BHEE (a) 328. 000 405. 000 175.100 356. 400
HERRA (b) 0. 000 0. 000 6. 620 0. 000
X158 (c=a+b) 328. 000 405. 000 181.720 356. 400
RIEEN D DA (d) 306. 000 151.270 220.974 87.627
FiEEE (e) 482. 730 335. 296 315. 067 316. 871
BEEGUEE () 151.270 220.974 87.627 127.156
| 5 b REBIIEHEE (9) 83. 351 107. 361 9.504 52. 066
T F%E (h=c+d-e-T) 0. 000 0. 000 0. 000 0. 000
FRFREE+FAE (i=(g+h)/ ord) (%) 13.1% 19.3% 2 4% 7%
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HES : BEMICHT D TAEELEOHE (84 mHMA)
R3 R4 RS R6 R7
EH%E (a) 10. 000 0. 000 4.900 28. 200
FHERRA (b) A 6.000 0. 000 A 1.666 0. 000
R {+%8 (c=a+b) 4.000 0. 000 3.234 28. 200
BIERE A 5 DEHE (d) 11,524 2195 0.000 3234
KIEEE (e) 13.329 2.195 0. 000 18. 682
TEEMREE (1 2195 0.000 3234 12752
| 5 bREBIUGHEE (9) 2.195 0. 000 0. 000 12.752
T FA%E (h=c+d-e-f) 0. 000 0. 000 0. 000 0. 000
FRREE+TAE (i-(g+h)/ (ord) (%) 1215 0. 0% 0. 0% 20 6%
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HES : EETICHAHERORKIEORE (F - ®2) (BR) (84 @HA)
R3 R4 RS R6 R7
E5%E (a) 10. 000 7.500 47.200 53.100
HEARA O 0.000 0.000 0.000 0.000
R {+%8 (c=atb) 10. 000 7.500 47.200 53.100
BEE 5 ORIE (A 36. 765 8 791 2750 35. 436
XK (o) 37.974 13. 541 14.514 72.824
TEEMREE (1 8 791 2.750 35. 436 15.712
| 5 bLREBIUIEHEE (@) 8. 791 2.750 4.939 0.530
TR (h=c+d—e-T) 0.000 0.000 0.000 0.000
RRRBE+TAE (i-(g+h)/ (ord) (%) 18. 8% 16. 9% 9. 9% 0 6%
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HES  RETICHTETAERBEORETS (% - B2) (24 . §HA)
R3 R4 R5 R6 R7
B2 %8 (a) 36. 000 29.920 60. 700 24. 600
FERRA (b) 0. 000 0. 000 A 14.116 0.000
R {158 (c=atb) 36. 000 29.920 46. 584 24. 600
RIEEN D DRRME (d) 12.000 7. 468 28.188 36. 499
FHEEE (e) 40. 532 9.200 38.273 42.654
BEEEMEE () 7. 468 28.188 36. 499 18.445
| 5 bRIBIRWEE (9) 7. 468 2.145 1.867 18.445
T FA%E (h=c+d-e-f) 0. 000 0. 000 0. 000 0. 000
RIBIBHBE+THE (i=(g+h) /(c+d) &) 15. 6% 5. 7% 2.5% 30. 2%
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